
ASSIGNMENT OF CLASS XI PRINCIPLE OF MATHEMATICAL IND 

1 Let n(U) = 700 n(A) = 200 n(B) = 300 n(A∩B) =100 then n(A’ ∩B’) =? 

(a) 400       (b)  600         (c)  300           (d)  None 

2 If the cardinality of a set A is 4 and that of a set B is 3 , then what is the 

 cardinality of the set A∆B ? 

(a) 1              (b)  5           

(c)  7            (d)  Cannot be determined 

3 Which one of the following is null set? 

(a) {0}         (b)  {{{}}}        (c)  { { } }            (d)  {x/x2 +1 = 0, x∈R }  

4. What is the number of natural numbers less than or equal to 1000 which are 

 neither divisible by 10 nor 15 nor 25? 

(a) 860         (b)  854      (c)  840       (d)  824 

5 Consider the following     

 (I)  AU(B∩C) = (A∩B)U(A∩C)                                                       

 (II)  A∩(BUC) = (AUB)∩(AUC)  which of the above is/are correct? 

(a) Only I            (b)  Only II          

(c)  I and II            (d)  Neither I nor II 



6 Let A = {1,2,3,4,5,6,7,8,9,10} then the number of subsets of a containing exactly 

 2 elements is –  

(a) 20       (b)  40       (c)  45        (d)  90  

(Q. No’s 21 to 23) Read the following information carefully to answer the questions that 

follow – In a survey of 25 students it was found that 15 have taken Maths, 12 have 

taken Physics , and 11 have taken Chemistry,5 have taken Maths and Chemistry ,9 

have taken Maths and Physics ,4 have taken Physics and Chemistry and 3 have taken 

all the 3 subjects. 

7. The number of students who have taken only Physics is – 

(a) 2         (b)  3        (c)  5         (d)  6  

8. The number of students who have taken only 2 subjects ,is 

(a) 7         (b)  8         (c)  9         (d)  10 

9. Consider the following statements   

I  The number of students who have taken only one subject is equal to the 

 number of students who have taken only 2 subjects. 

II The number of students who have taken at least 2 subjects is 4 times the 

 number of students who have taken all the 3 subjects.  

Then which of the  above statements(s) is /are correct? 

(a) Only I           (b)  Only II        

(c)  Both I and II           (d)  Neither I nor II  



 

10. If f(x) = (x-1) / (x+1) then what is f{f(x)} ? 

(a) X        (b)  –x        (c)  -1/x        (d)  None  

11. The domain of the function f(x) = 1/ √|𝑥| − 𝑥 is –  

(a) [0,∞)           (b)  (-∞,0)         (c)  [1,∞)        (d)  (-∞,0] 

12. Let A = {a,b,c,d}  and B = {x,y,z}  what is the number of elements in A×B? 

(a) 6        (b)  7         (c)  12        (d)  64 

13. If  A = {1,2}  B= {2,3} C= {3,4} then what is the cardinality of (A×B)∩(A×C)? 

(a) 8        (b)  6        (c)  2       (d)  1  

14. f(xy)= f(x) f(y) is true for all – 

 (a)  Polynomial functions               (b)  Trigonometric functions                  

 (c)    Exponential functions          (d)   Logarithmic functions   

15. The range of the function f(x) = 1/(2-sin3x) is – 

(a) (1/3,1)     (b)  [1/3,1]      (c)  [1/3,1)      (d) [1,1/3] 

16. If f(x) = ax/(x+1) , x is not -1 then for what value of a is f[f(x)] = x? 

(a) √2         (b)  -√2        (c)  1        (d)  -1 

 


